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ARARBHREREREESHE (1.77)

FERi23F7AE HRBREERI
BRRE
—RME T LESR
= o E S A AR LUt = EM AR
1L 1 5 30 150 500 R 1L 1 5 30 OB
ES] ~ ~ ~ ~ LR S A 2O ER ~ ~ ~ A R OF
5 30 150 500 5 30 150

e 6 7, 260 274 132 0 0 7,672 30, 887 0 0 0 0 0 0
6 1 1,570 1, 657 763 0 0 3, 991 14, 455 0 0 0 1,470 1,470 5,274
R T A 140 5, 402 7,503 1,714 12 0 14,771 71,737 0 0 0 0 0 3
KA 0 22 2 332 0 20 376 709 0 0 0 0 0 0
753 0 170 1, 304 39 0 0 1,513 5, 286 0 0 600 2 602 2,315
3 0 2 0 0 0 0 2 27 0 0 0 0 0 0
HAbKSE 0 0 0 250 0 0 250 2,052 0 0 0 0 0 0
Ty 1 7 178 77 0 0 263 1,987 0 0 0 0 0 10
AL 0 0 3 0 17 0 20 155 0 0 0 0 0 0
—F L 0 0 0 0 0 1 5 0 0 0 0 0 0
iRl 22 5 0 2 6 70 12 0 90 996 0 0 0 0 0 0
~Y L 379 7 9 51 0 446 654 0 0 0 0 0 3
KIRIT A 0 0 0 5 0 5 73 0 0 0 0 0 0
PG 1 3 0 498 0 502 2,513 0 0 0 200 200 200
SG 0 0 0 60 0 60 1,661 0 0 0 0 0 0
ZDfh 1, 500 229 246 1, 241 12 0 3,228 9,972 0 0 300 58 358 900
e 2,028 14, 674 11, 182 5,233 53 20 33, 190 143, 169 0 0 900 1,730 2,630 8, 705
ARG 5, 542 73,104 39, 651 24, 620 156 96 143, 169 143, 169 0 113 3,032 5, 560 8, 705 8, 705
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AARNBHREHEEEERHR (2.77)

TH23F7RE HEREERD
BAHERBRE
BHEAE (500 LK)
1L 1 5 30 150 FOE
ES ] ~ ~ ~ ~ MHE ROEr
5 30 150 500

LPHA 0 307 3,390 38, 855 0 42, 552 283, 639
LT o E=T 0 0 0 0 0 0 50
TEFLUHA 0 200 350 150 0 700 2, 750
TNAa =R 12 0 0 0 0 0 0 0
T A —mR 22 0 0 0 100 0 100 361
INFaH—R134a 0 0 0 0 0 0 0
INAaH—1R502 0 0 0 0 0 0 0
7V A a1 —AR 2D 0 0 0 50 0 50 64
VR4S 0 0 0 0 0 0 0
~U T 0 0 0 0 0 0 7
Ta 0 0 0 0 0 0 8
iR A 0 0 0 0 0 0 0
FC1 0 0 0 2 0 2 52
FC2 0 0 0 0 0 0 0
FC3 0 0 5, 500 0 0 5, 500 10, 006
Z D fih 60 1 1 250 0 312 1,121
M HE 60 508 9, 241 39, 407 0 49, 216 298, 058
ERE RG] 276 2, 543 35, 230 260, 009 0 298, 058 298, 058
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HARNBRBREHELEESTET (3.7)
Fk23%F7HE HERESEXL
2 & B FE
BEAR (500LBLE)

500L 1000 2000 4000 6000 7000 8000 9000 11000 13000 15000 17000 18000 O

~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ 2Lk % HF R F

1000L 2000 4000 6000 7000 8000 9000 11000 13000 15000 17000 18000
LPHA 0 25 1 14 1 2 1 0 1 0 0 0 8 53 119
LT =T 17 18 0 0 0 0 0 0 0 0 0 0 0 35 246
T A a—mR1 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
T A a—mR 22 0 2 0 0 0 0 0 0 0 0 0 0 0 2 3
T A a—mR3 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
TAAu—AR134a 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
A —HRr502 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
7V A a1 —AR 2D 3 0 0 0 0 0 0 0 0 0 0 0 0 3 15
[ES 40 0 0 0 0 0 0 0 0 0 0 0 0 40 40
M kR 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
fiidbk & 0 0 0 0 0 0 0 0 0 0 0 0 0 0 5
AF N T —F )L 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
FC1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
FC2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
FC3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
Z D 24 8 0 0 0 0 0 0 0 0 0 0 0 32 37
M HEF 84 53 1 14 1 2 1 0 1 0 0 0 8 165 465
R RG] 283 100 1 44 4 4 2 0 1 0 0 0 26 465 465
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HAGNBGRRER=EEEESTEX (47)

TR23FET7RHE HKBRREBE
BERE
HBIEERES (500 LKA FBIEERS (500LLE)
1L 1 5 30 150 isyis 500 | 1000 | 2000 [ 3000 | 4000 | 5000 | 6000 | 7000 | 8000 | 9000
S ~ ~ ~ ~ | YA i ~ ~ ~ ~ ~ ~ ~ ~ ~ ~
5 30 150 500 2000 | 3000 | 4000 | 5000 | 6000 | 7000 | 8000 | 9000 | 10000
WALl 0 0 0 46 110 156 772 0 0 0 0 0 0 0 0 0 0
RILER 0 0 0 166 110 276 746 0 0 0 0 0 0 0 0 0 0
TR IR 0 0 0 0 40 40 60 0 0 0 0 0 0 0 0 0 0
A A= 0 0 0 44 40 84 284 0 0 0 0 0 0 0 0 0 0
TRAL KR A 0 0 0 4 0 4 64 0 0 0 0 0 0 0 0 0 0
Z D, 0 0 0 0 0 0 60 0 0 0 0 0 1 0 0 0 0
M H G 0 0 0 260 300 560 | 1,986 0 0 0 0 0 1 0 0 0 0
EERE 150 0 0 480 | 1,356 | 1,986 | 1,986 0 0 0 0 0 1 0 0 2 2
BHERE
FBIEERE (500LLE)

10000 | 11000 | 12000 | 13000 | 14000 | 15000 | 16000 | 17000 | 18000 | 19000 | 20000 | 21000 | 22000 |24, 000 isNis

~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ | BLk [HMAG| R

11000 | 12000 | 13000 | 14000 | 15000 | 16000 | 17000 | 18000 | 19000 | 20000 | 21000 | 22000 | 24000
WALl 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1
RiLER 0 0 1 0 0 0 0 0 0 0 0 0 0 1 12
TR IR 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
A A= 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1
TRAL KR A 0 0 0 0 0 0 0 0 1 1 0 0 0 4 6 18
Z D 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 3
M H G 0 0 1 0 0 0 0 0 1 1 0 0 0 4 8 36
R 2 2 5 2 0 0 0 0 1 2 0 0 2 15 36 36




#xX3—-10

HARNBRBREHELEESTER (5.77)
Fk23%F7HE
BHRBRE
—REERE
-
A T O G i INOYCETN B
D 30 150
&S 0| 2,475 0 0 0 | 2,475 | 20,214
EH 0 575 0 0 0 575 575
EEE 0 546 1,111 0 0 1,657 3,743
KK A 0 0 0 0 0 0 0
K# 0 0 0 0 0 0 0
Z DAth 0 0 0 0 0 0 0
&El 0 3,596 1,111 0 0 4,707 | 24,532
AR R 0 | 20,823 3, 709 0 0 | 24,532 | 24,532
BHEBRE
ERRXAAAEBERBEERARSE BT LEE)
5L 30 150 160 170 180 190 200 210 220 B 4 pE
-~ ~ -~ ~ ~ ~ ~ o~ ~ sk U A Gk
30L 150 160 170 180 190 200 210 220
KEKH A 30 71 25 0 0 0 0 0 0 126 263
RS2 30 183 50 0 0 0 0 0 0 263 263
BHEBRE
ERRXAARAEBDERBEERARSE EEHEE)
5L 30 150 160 170 180 190 200 210 220 . 4 g
-~ - -~ ~ ~ ~ -~ - -~ Pk S A E Bt
30L 150 160 170 180 190 200 210 220
KEKH A 0 0 0 0 0 10 0 0 0 10 10
EREERE 0 0 0 0 0 10 0 0 0 10 10
BHEBRE
EfEKREBNERNEERSS
5L 30 150 160 170 180 190 200 210 220 . 4 g
~ - -~ ~ ~ ~ -~ - -~ Pk S E Bt
30L 150 160 170 180 190 200 210 220
IKEH A 0 18 0 0 0 0 0 0 0 18 81
ARG 0 81 0 0 0 0 0 0 0 81 81

HERREERE
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A '_I_\| sle E E
HARNBREREH=Z2EESTE (6.77)
TR23FE7RE
BRHERE
EfEKRELBHERARS

5L, 30 150 160 170 180 190 200 210 220 o ERE

~ ~ ~ ~ ~ ~ ~ ~ ~ oLk % HE [

30L 150 160 170 180 190 200 210 220
K& A 0 0 0 0 0 0 0 0 0
EE R 0 0 0 0 0 0 0 0 0

BRHERE
BIEXARTREHERBEERASSS

5L 30 150 160 170 200 250 500 — AR

~ ~ ~ ~ ~ ~ ~ o | HHER | m=

30L 150 160 170 200 250 500
RIRH A 0 0 0 0 0 0 0
R 0 0 0 0 0 0 0

BRHERE
55t ITR%%
1L 1L 5L 30L 1501 500L 1000L R
~ ~ ~ ~ ~ % HE BE

R 5L 30L 1501 500L 10001, oLk
LPG 0 0 0 0 0 0 0
Z DAt 0 0 0 0 0 0 0
EE R 0 0 0 0 0 0 0

HERREERE
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> o *h = £
HARNBHREREH=EzEESHE (7.77)
TR23FE7RE HBRBREEEXRL
BRHERE
BRTCAZILLRS
1L 1L 5L, 30L 1501 500L 1000L, EOpE
~ ~ ~ ~ ~ w2 B
R 5L, 30L 1501 500L 10001, Lk
JNAFaH—R 12 0 0 0 0 0 0 0 0 0
INNFEH—RL 2 2 0 0 0 0 0 0 0 0 0
A aH—R 32 0 0 0 0 0 0 0 0 0
I FaH—R134a 0 0 0 0 0 0 0 0 0
I FEH—RL 502 0 0 0 0 0 0 0 0 0
)V Fda =R D 0 0 0 0 0 0 0 0 0
FC1 0 0 4, 668 0 0 0 0 4,668 | 23,305
FC2 0 0 0 0 0 0 0 0 0
FC3 0 0 0 0 0 0 0 0 0
Z O fh 0 0 0 0 0 0 0 0 400
2 HEE 0 0 4, 668 0 0 0 0 4,668 | 23,705
TR 400 0 | 23,305 0 0 0 0 | 23,705 | 23,705
REBRE REBRE
—REEEH BIEERS
1L 1 5 30 150 EOpE 500 L 3| 500L~ [1000LLL k- v g3 EOpE
> N = = i =
A ~ ~ ~ ~ MAE ROE 1000L ROE
5 30 150 2Lk e 0 0 0 0 0
72 0 0 0 0 0 0 0 WLEFE 0 0 0 0 0
IS 0 0 0 0 0 0 0 WAL T = 0 0 0 0 0
RIRH A 0 0 0 0 0 0 0 WA 7T A 0 0 0 0 0
6 0 0 0 0 0 0 0 WRALRIR AT A 0 0 0 0 0
H i A 0 0 0 0 0 0 0 bk 0 0 0 0 0
Z D, 0 0 0 0 0 0 0 Z D, 0 0 0 0 0
&t 0 0 0 0 0 0 0 &t 0 0 0 0 0
AR 0 0 0 0 0 0 0 AE R G 0 0 0 0 0
TEEE 0 0 0 0 0 0 0 TEEE 0 0 0 0 0
RAAEE Rt 0 0 0 0 0 0 0 TEEEERE 0 0 0 0 0




